[12 A]
[ 1A]

ERFRFMED D 7 /1 X TR - J RIEKHR] BRIE

29H (£)-308 (BH)-31H (A)
2H (K)-38 (K)- 48 (&)

(£
i

B FE/E UG

J R/EIGF
(721

Vo if A

B amre

=
i

REIE R

J R/EUE
(F2H)

R AEIE Ui

B @EFe

FI1E

%9:50

%10:05

10:20

#21(F

15:35

15:50

16:05

F2E

10:50

11:05

11:20

F2E

15:45

16:00

16:15

EIE

11:10

11:25

11:40

FIE

15:55

16:10

16:25

F4(E

11:50

12:05

12:20

1 kHIXETETT,
E2: THRBIIMELFT
X3 RERAFICEKYVRMERICLIPWENHBY FI-

F4E

%*16:50

=

17:15

%16:55

17:15

BHE

17:00

17:20

17:35

MR RES




